
KÉPLETGYŰJTEMÉNY PÉNZÜGYTANBÓL 

1, 𝑟𝑟 =
1+𝑟𝑛

1+𝑖
-1 2, 𝐹𝑉𝑛 = 𝐶0 × (1 + r)𝑛 3, 𝑃𝑉 = 𝐶𝑛 × [

1

(1+𝑟)𝑛] 

4, 𝑃 =
𝐶

𝑟−𝑔
=

𝐶×𝑝

100×(𝑟−𝑔)
 5, 𝐹𝑉 = 𝑐 ×

(1+𝑟)𝑛−1

𝑟
× [1 + 𝑟] 

6, 𝑃 =
𝑐

𝑟
=

𝑝×𝐶

𝑖×100
 7,  𝐹𝑉 = 𝐶0 × (1 + 𝑟1 × 𝑛1 + 𝑟2 × 𝑛2 + ⋯ 𝑟𝑛 × 𝑛𝑛) 8, 𝑟∗ =

𝑑

1−𝑑×𝑛
 

9, 𝑃𝑉 = 𝐶𝑛 ×
1

(1+𝑛×𝑟)
 10,  𝑃𝑉 = 𝑁 × (1 − 𝑑 × 𝑛) 

11, 𝐴𝐹𝑟,𝑛 =
(1+𝑟)𝑛−1

(1+𝑟)𝑛×𝑟
 12, 𝑑∗ =

𝑟

1+𝑟×𝑛
 

13, 𝐹𝑉 = 𝐶0 × (1 + 𝑟 × 𝑛1) × (1 +
𝑟

𝑚
)

𝑁
× (1 + 𝑟 × 𝑛2) 

14, 𝑃𝑉 = 𝑐 × 𝐴𝐹𝑟,𝑛 + 𝑁 × 𝐷𝐹𝑟,𝑛 15, 𝐷𝐹𝑟,𝑛 =
1

(1+𝑟)𝑛 

16, 𝑟∗ = √(1 + 𝑟𝑒𝑓𝑓)
𝑚

− 1 17, 𝑃 = 𝑐 ×
1−(

1+𝑔

1+𝑟
)

𝑛

𝑟−𝑔
 

18, 𝑋 =
𝑐×𝑡

𝑇
 19, 𝑟 =

𝑃1−𝑃0+𝐷𝑖𝑣1

𝑃0
=

𝑃1

𝑃0
− 1 +

𝐷𝑖𝑣1

𝑃0
 20, 𝑟 =

𝑃1

𝑃0
− 1 

21, 𝑟𝑛 = (
𝑃1

𝑃0
− 1) ×

1

𝑡
 22, 𝑟𝑒 = (

𝑃1

𝑃0
)

1

𝑡
− 1 

23, 𝑟𝑖 = 𝑙𝑛 (
𝑃1

𝑃0
) ×

1

𝑡
 24, 𝑟𝑐 = 𝑟𝑠 +

𝑁−𝑃

𝑛

𝑃
 

25, 𝑛 =
1

𝑑
−

1

𝑖
 26, 𝑃𝑉 =

𝑐

𝑟
 27, 𝑐 =

𝑃𝑉

𝐴𝐹𝑟,𝑛
 28, 𝑃𝑉 =

𝐶1

𝑟−𝑔
 

29, PV = ∑
𝐶𝐹𝑘

(1+𝑟)𝑘

𝑛

𝑘=1
 30, 𝐸𝑙ℎ. 𝑏𝑒𝑡é𝑡 = ∑

(𝑘+𝑏𝑣)𝑖

(1+𝑟)(
𝑡×𝑖

365
)

𝑛
𝑖=1  

31,  𝑟𝑛 =
∑ 𝐼𝑖

𝑛
𝑖=1

𝑁
 32,  𝑟𝑠 =

∑ 𝐼𝑖
𝑛
𝑖=1

𝑃
 

33, 𝑃𝑉 = 𝑐 ×
(1+𝑟)𝑛−1

(1+𝑟)𝑛×𝑟
× [1 + 𝑟] 34, 𝐾 = 𝐹𝑉 − 𝑐 × 𝑛 × 𝑚;  𝐾 = 𝑐 × 𝑛 × 𝑚 − 𝑃𝑉 

35, 𝑃𝑉 =
𝑁

(1+𝑟𝑛)𝑛 36, 𝑃𝑉 =
𝑁

1+𝑟𝑛×
𝑛

360

 

37, 𝑐𝑛 = 𝑐1 × (1 + r)𝑛−1 38, 𝐹𝑉 = 𝐶0 × (1 +
𝑟

𝑚
)

𝑛×𝑚
 

39, 𝑟𝑒𝑓𝑓 = (1 +
𝑟

𝑚
)𝑚 − 1 40, 𝐹𝑉 = 𝐶0 × 𝑒𝑟∗𝑛 

41, 𝑟𝑒𝑓𝑓 = 𝑒𝑟 − 1 42,  𝐹𝑉 = 𝑐 ×
(1+

𝑟

𝑚
)𝑛∗𝑚−1
𝑟

𝑚

× [1 +
𝑟

𝑚
] 

43, 𝑓𝑣 = 𝑐 × [n + 𝑟 ×
𝑛(𝑛+1)

2×𝑚
] 44, 𝑃𝑉 = 𝑐 ×

(1+
𝑟

𝑚
)𝑛∗𝑚−1

𝑟

𝑚
∗(1+

𝑟

𝑚
)

𝑛∗𝑚 × [1 +
𝑟

𝑚
] 

44, 𝑇𝐻𝑀 = 𝐻 = ∑
𝐶𝑘

(1+𝑖)𝑡𝑘
𝑚
𝑘=1  45,  

Jan. Febr. Márc. Ápr. Máj. Jún. Júl. Aug. Szept. Okt. Nov. Dec. 

31 28/291 31 30 31 30 31 31 30 31 30 31 

 

 

                                                           
1 Szökőévben a február 29 napos a „szokásos” 28 nappal szemben. 


